Al 752

BREEILFEEM(BARX-SFX-FHRK) B 572
1EH
ENO | NEES| HEGETE & | epEH TOERIET SEAE FREfEs o TERAAR
18 tERIHE | EREYIET | BEE i & XiER  (msmeER|ETHEE|ETREE
1 9301 |%/K EHET452T B |124-3 1,890.81|  1,027.99 721.25|  —%&R MEHICEE
2 9301 |F/KLET4%2TH|52-7 329.56 172.88 156.68| £&B
3 9301 |%/k LHET4%3T B |94-7 3,542.35|  2996.11 000 —B MEHICEE
4 9301 |#/KLET3E3T B |7-4[FH 1,812.64| 1,013.76 798.88| &£ &R A EHITEE
5 9301 |%/k EET254TH|7-5 1,277.76 789.26 48850 £&R
6 9301 |#/KLHET154T B |8-5[FH 2351.82| 195292 398.90| &R
7 5810 |%/KLET3%4TH |281-3 588.37 588.37 0.00| =B A
8 5810 |%KLET354TH |281-12(FH 520.14 183.44 0.00| —&B HREISEE
9 5810 |3k LET4%4TH |143-18 1,391.16 805.93 0.00| —#B A 2[E] B 554D
10 5826 |FFLBE17TEIL [802-17 1,314.78 72.84 000 —B
11 5755 |EES5L11TH  |1-15 1,094.88 137.20 0.00| —&B
12 176 |2F1ENTH (22 1,125.05 133.82 000 —%&B A 1B B 74D
13 5589 |/KEHET1TH 78-27,-28 256.00 256.00 0.00| =&
14 5649 |SEF5515TH  |910-10 8,347.66 0.00 22319 —&
15 5687 |t&fX2%6TH 115-56,-59 291.89 291.89 000 £ A 2[E] B 554D
16 7434 |EK5%2TH 130-344 4,277.32 760.58 000 —%&¢ B %ggggﬁ g
17 5779 |FRENEFITH 90-16 17,659.72 77.78 86.64| —IB
H 4807191 11,260.77| 2,874.04| 14,134.81
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Al 752

BREEILFEEM(BARX-SFX-FHRK) B 572
20 H
ENO | NEES| HEGETE & | epEH TOERIET SEAE FREfEs o TERAAR
18 tERIHE | EREYIET | BEE i & XiER  (msmeER|ETHEE|ETREE
1 9301 |%/k LET452T B |124-3 1,890.81|  1,027.99 72125 —&¢ HEHIEE
2 9301 |F/KLET4%2TH|52-7 329.56 172.88 156.68| £&B
3 9301 |%/K LET453T B |94-7 3,542.35| 2,996.11 0.00| —%&8 EEITSEE
4 9301 |Z/KLET3%3T B |7-41FH 1,812.64| 1,013.76 798.88| £ A BRHITERE
5 9301 |%/k EET254TH|7-5 1,277.76 789.26 48850 £&R
6 9301 |#/KLHET154T B |8-5[FH 2351.82| 195292 398.90| &R
7 5810 |%/KLET3%4TH |281-3 588.37 588.37 0.00| =B A
8 5810 |Z/KLET354TH |281-12(FH 520.14 183.44 000 —%&B BHlISEER
9 5810 |3k LET4%4TH |143-18 1,391.16 805.93 0.00| —#B A 2[E] B 554D
10 5826 |FFLBE17TEIL [802-17 1,314.78 72.84 000 —B
11 5755 |EES5L11TH  |1-15 1,094.88 137.20 0.00| —&B
12 5589 |/KEHET1TH 78-27,-28 256.00 256.00 000 £
13 5649 |SEF5515TH  |910-10 8,347.66 0.00 22319 —&8
14 5687 |f&{¥2%6TH 115-56,-59 291.89 291.89 000 £ A 2[E] B 554N
15 7434 |E%5%2TH 130-344 4,277.32 760.58 000 —B B ﬂ[m %“3'? ’ff:fﬁu
16 5779 |FR1EITH 90-16 17,659.72 77.78 86.64| —%f
B 46,946.86| 11,126.95| 2,874.04| 14,000.99
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